Czytanie działań

7+6=13 (The sum of 7 and 6 is 13)

8+9+6=23 (The total of 8,9 and 6 is 23)

4+7 (The number 4 incresaed by 7)

x+4=13 (4 more than x is 13)

a+b=c ( a add b equals c)

a+b =c ( a plus b equals c)

9-3=6 ( The difference between 9 and 3 is 6)

13-4 ( 13 decreased by 4)

17-9=8 (9 from 17 is 8)

x-5 =9 (5 less than x is 9)


8 * 7 (8 multiplied by 7)
         (8 times 7)
         (The product of 8 and 7)

a:b= c (a divided by b equals c)
a/b   (a over b)
a/b  (The quotient of a and b)


